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He cannot marry a slave woman — %127 1N OW NRY

Overview

The mwn taught regarding an 11> 72¥ who is half free and half slave, that he
cannot marry neither a N°v1> ANOW, nor a X" N3, so therefore in order from him
to be o»pn the Mxn of 7°27 719 we force the master to free him, so he can marry a
71 n2. Our Moo discusses various other options that would seemingly enable
this 72¥ to be 0*pn the Mx» of 7727 7770 (and rejects them all).

= 11929 1999 792 0PN 1IN XN ANAY XYY D199 199N 9NN ON)
And if you will say; even if the 1717 72 *Xxm 72v °¥17 could marry a new, but he

still would not fulfill the X% of 9''¥2 with any children he will have with her -
- 19993509 9MmY D7D 02219 191 %2) (x,30 mn3») NN HY NAN P92 NPT

As is evident in 1n»2° » K27 P72 regarding the issue of one who had children

before he converted and then he was =9%an%, whether he was 7" o»pn with those
children -

- 2091 19 PRY T2y 119 997 MNT
Where 27 stated; “all agree regarding an 72¥ that he has no lineage’ -

MDOIN answers:
-4 99 *mav 0”PY 5152 PN ONRT 9 v

And one can say that if the 72y would be able to fulfill the mx» of naw in some

manner -
— NI DNINT 1992 N2 29N XDT 1297 13995 MN KXY NY1INT 129 199 MNN DIVN

They would not have forced his master to free him, just so that he could fulfill
the 713% of 2'"1p alone, since the 72V is precluded legally from marrying—

In summation; if the n"amyn could be naw o»pn, there would be not have been a 2°»>1 Nipn to
free him so he can be 119 o>pn.

" There is a dispute there between *"3 (who maintains 1" 0p) and 7" (that he was not 1" nn o>°pn).
* Any children he had while he was an 72y are not attributed to him so therefore he was not 1" o»pn. Therefore
why does the X713 need to say that he cannot marry a 719w, even if he would marry the 715w and have children from
her he would still not be 7" 0»pP» since he is an 72v.
? The X713, when giving the reason why the 72y should be freed, writes; X2 X1 77271 77197 K98 09w K121 XY X9
7% paw® ax02 N, The 21n of naw is to populate the world. If the 72¥ would be permitted to marry the nnow and
have children he would be a**p» (at least) naw, so even though he would not be 7"1o opn, the 0111 would not force
his master to free him, since he is n2w o>°pn, and he is legally hindered from being 7"15 0>pn, through no fault of his
own. However now that he cannot be 0»p»n even naw (because 13° 1°K 779w RW°?), which is a great mMx¥n, the 2°»on
felt it necessary to force his master to free him, so now he can be 1" opn.
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NN asks:
= (oran VIR D N7 INY N9 1299 1997 NYY S5O 99NN ON)

And if you will say; and let the mwy of 2'v come and push aside the

prohibition of w7p ;19779 X, why free the slave; let him marry a P91 n2 and they will not be
121 the WY, for (V7P 770 RD) Awvn 8L M7 ("9) vy —

N1B0IN answers:
- 51995 %15 Y DAY DPY IYON KINT 9129 U

And one can say; that here it is possible to observe both (the 7wy and the n"9)
though forcing the master to free the 72y —

A second answer:
- 6‘!2)’5‘\7!5 NOTNT NN 91952 NON NYY DP1N XY IND NPV 99T N

And additionally when the X% is being transgressed, the 7wy (of 2") is not
being fulfiiled, for the mx»n of 7"» is fulfilled only with the completion of 7X°2
when she becomes fit to conceive —

A third and final answer:
- 8ma N¥YY9A NY JWAN 7N‘T‘,7$’):l IIYANRT VY NIY NTI729T TIVY

And furthermore there is no 72y for this woman to be with this 121 72 *xn, for
even if we assume that a woman is commanded to observe 1"19, it is possible for
her to observe it with someone like her, a >x~v°, not a 151 72y *xr.

In Summation: There is no n"77y here because; 1. It is amaw o»p> WwoKR, 2. They are not
simultaneous, 3. (she is not 7Mx¥n», and) she can do 1"® with a X",

mooIn asks:
- 911!'\2\’)2 Y 92 TaYT 92 Taya 1INY 919199 AN ON)

* m p1oo reads, PRI 320 WIp M X9 YN niian AwTp man &9, Presumably mooin means the WY of wIp AN XY
which the 1711 2 would be 12w if she married this 177 32 *Xm 72Y X7.
> We say n"27v when there is no other way how to observe the 7wy without transgressing the n'">, however here one
can do both (observe the nwy and not transgress the n"?) by having the owner free the slave. See nwn nom1 who asks
how can this be considered oi°1w 0>p WK since the master is transgressing the 710°X of 1712vn 072 o7WH.
% The prohibition of all illicit relationships take effect by ax7wn (the very beginning of the ax"a act). However the
mxn of 7"1 is observed when the act is completed and there is an emission of seed to enable her to become
pregnant. n"77v is only if the observance of the 7wy is simultaneous with the transgression of the n'"7, but not in this
case where she will first transgress the n"% (without observing an nwy, which will come later).
7 There is a dispute whether a woman is commanded with the 77%» of 7". If she is not commanded, there certainly
is no question, for there is no nwy for this woman who is 721 the Twyn XY of 7WTP 7770 KY.
8 This seems somewhat similar in content to the first answer that it is 27w a”pPh WOR.
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And if you will say, but let him sell himself as an ¥''y, for an ¥'"'y is permitted
to be together with a nnsw -
- $P3¥39 NNOY 1Y 901 1397 IINT INNY XX RN 09321 UK 1Y 1PN 1959N)

And even if the 72y °¥17 has no wife and children, nevertheless there is one who
maintains that his master may give him a n°1yi> oW as a wife even to such an 72y -

nvoIN answers:
= 992 T2¥3 19999 PR TINIYMII ) (0w 1y x,xy xw¥n x13) TYI INTIND 9INRT 921D W

And one can say, that the X712 states in 722 %798 P70 that a 23 and a freed 72V

*1y10 cannot be sold as an »''y -
- NaWN SN Faw 1ryat oIun

Because we require that when he is freed he should return to his family (and a "3
7MW have no family).

In summation; a 1717 32 XM 72y °¥n cannot sell himself as an ¥"Y since an 77mMwn» 3"¥ cannot
become an ¥"Y.

nooIN asks:
= (8,09 97 P5N) 132 NN ININ P992 12299NTI 299N N2 NINNI NNAY NINN XYM 99NN ON)

And if you will say; but let him marry a > n2 °3m answ 721 (who has the

same status as he has), as 7717 " stated in 122 ARY IR 29D -
- 199 KON 799 P19 PR Nyany nr1991

That a female mule that was demanding to be sired, we only mate her with her
kind, a male mule

mooin replies:
= N 1N 119797 239 295 NIN 9ON N9 OINYS 12T 9199 v

Heis a 17117 72 "¥m 72Y °X7; the 72y "¥n is certainly andwa N, and regarding the 1717 12 °X¥1 he can sell that half to
a 9% and become an ¥"v, so he will be *1v15 72y *¥11 and ¥"v >xn, both of whom are n°1wi1> anowa 1. Why are we
127 NX 1912 to free him?!
' There are those who maintain (2py> 12 MYHR M, see X,d PwITR) that if the 72y did not have a wife and children
previously, the master may not give him a n°11> naw as a wife, based on the 7109 of X¥* 1932 X2’ 1932 OX (in NN
3,%0 [owawn]). See ‘Thinking it over’ # 1.
'R9,79 (172) X7p reads, 21 1PNAR NI DRY IANEWH 98 AW Ay 13RI TV KL,
12 A 779 (mule) is the offspring of a horse and a donkey. We are forbidden to mate together animals of different
species, as the 710 writes (in v, [2°w17R] XKIP") that 2°R%5 ¥°310 R? [hnn3, therefore we cannot mate this 71779 with
either a horse or a donkey, since they are of a different species, but we can mate her with a 775 who is of the same
species. The same should seemingly apply here that a 717 72 *¥m 72v °¥17 should be allowed to marry a >Xm anaw *Xn
111 N3, so why is there a need to free him?!
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And one can say, that regarding the prohibition of z°8%>, the 770 only
prohibited the mating of two species, but these two (the 775 and the 7779) are

one species -
= MM 183 YNNWYNI MTAY 18 YNN XON YaN

However here (by the nmawy 72v), the n72aw part of the 72y °xn will be mating
with the Ny’ part of the 1 n2 7°¥n, which is prohibited.

In summation; a P17 12 XM 72Y "X cannot marry a P N2 7YX AndW 7°X¥n because the mM7ay X
1S M1 7X2 wanwn.

MooIN asks:
= 1229 MTAY TN8T NN XY 99X ON)

And if you will say, so let this 7"2myn marry a na%2n, for the M17aw 7% of the X1

72V is permitted to marry a N7 -
- Banaw XU 911 1859 90059 091N 19193 (v oo purmp) MIND 9993 13019

As the mwn taught in 287 P9, it is possible for z2>am» to become =17v

(eligible to marry a YX7°), how is this done, a 2t% marries a oW, etc. This

indicates that a 7191 can marry a 7now and the same applies for an 72y to marry a N7 -
= T2 AT RAD P99 910999 29990 (x,00 ow) 1PONI 72 P9 1INTI NI YIY 193 MIN 1)

And the nmon part of the 1717 12 °x17 is also permitted to marry a namn, as the
mwn taught in ey ' pap; ‘freed 2%pi> 2v72y and 2%9t»» are permitted to

intermarry one with the other, so this 72y *xn1 is permitted to marry a nan from both his
m7ay 7% and M7°0 7%, why is the master required to free him; let him marry a nmn?!

mdoIN anticipates and resolves a possible difficulty with this solution:
= PV NJ2 MHUINI NINY? BN NUND UNNUNY NTAY 18 SNNT RIS 59

And if you will say that a 1"2myn cannot marry a n7tn because the n17ay part
will come and be involved with an w8 nw, that is not a problem, for he can

marry her illegally without 121752 so she will not be an X"X -
- 5199 1R ANOY RYY 119 PAnaw XY 1Ry 19

13 Their children (whose mother is a 71ow) will be 0°1v1> 0°72y, and if their master frees them, they are considered as
°%X8 W and can marry a X2 N2,
' When an 72v marries a NN (which he is permitted) she is not considered an ¥°X nwX, since he is an *1y13 72y,
where there is no concept of Pw17°p. When an 97mwn 72y marries a N7 she is considered an w°R nwX, because they
are both 0°7xw°. However when a n"amyn marries a n7in, she is (partially) married to the n7°n 7% of the 72y, but
the M172y 7 is having relations with this n71” who is a (partial) X"X, which is forbidden.
'3 Just as when a "mn marries a ndW there is no PYI7P (with a 7n5w), similarly here too the 1"2myrn will marry the
namn without WP,
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Just like a =t» marries a anew without 1Y17°P, and just like the X773 says, ‘he
cannot marry a mmew.'® The question remains why cannot he marry a n7mn» without PwI7R?!

MooIN answers:
- Hxawra D991 Mavny MPH N PNT 0N 1329 MMIN)

And the n'' says there cannot be such an enactment to increase 2°91%% in the
Jewish population.

In summation; the r"2myn cannot marry a N7 (even without 1w17°P) because we do not want
to increase YXW2 QMAN.

nooIN asks:
- (ow) PONY /5 9993 Nt AT XAY 191 7339131 999917 *n3my XY RN BN

And if you will say; but let the 1"2myn marry a 71501, since freed slaves and

a°°n: are permitted to intermarry with each other as it states in 195917 > P9 -
= 11199392 RIIN INIYIT NN NIMIN (3,00 mnw) I Y P92 139NRT N3 9599 ) Tay)

And an °1v1> 72V is also permitted to marry a 71’3, as the X713 states in w> P99
mann,? there is a difference between them regarding whether a 771°n2Y naran

who marries a »RIW> will receive a 7210 -
- 10931 NI I ADIAIN NIAY 2309 ININT INNIY

According to the one who maintains that she receives a 72112 because he

persuades her, however by a ?X7w°? 71°n11 N7 she persuades him (so she will not

receive a 1121n2) -
- Zanay NUIW P Yy Pan09h 032 99YY WIS

'® The x7m3 states that the 7av is in a bind for he cannot marry a 7now, indicating that if he could somehow marry a
7row there would be no problem (and his master need not free him), however if he marries the 715w there will be no
U (since it does not apply to a nnow), and nevertheless the X713 has no problem with it, so here too let him
marry a n7mn without YR (see v"2ay mn miaxi). See ‘Thinking it over” # 2.
7 We cannot encourage or even allow such a marriage to take place, since it will increase the number of 2™,
'8 pny/mrna are the owax (from the nuaw 't) who were 7™3nn [through trickery] in the days of ywyp, and were later banned
from marrying into ?X7 993, and were put (n1) into service as o°n 2R o°xy 2. See ‘“Thinking it over’ # 3.
' This resolves the issue of a 7" 12 *%n marrying a 73°n3.
%0 The X3 there is discussing why by certain forbidden marriages the woman receives a 7213 and by others they do
not. One view was that it depends whether it is an Xn>7X7 MOX (they receive a 12112) or an 1277 MO°R (no 721N2).
Others maintain that it depends whether the man is instigating the forbidden marriage (72105 1% w°), or whether she
is instigating the marriage (72103 1% PX). The X773 then points out a difference 713975,
2! 97179 means that eventually her grandson will be permitted to marry a (0°)>X7w".
2 See footnote # 13. MooIN is now assuming that since we say that 1" X7 because this marriage will enable her
son to marry a nnow, this means that her son (who is a 1°"nN1) may marry a 7m5®, so an 72¥ may also marry a 71Nl
[Additionally since the X723 lumps together 72°n1 N7 we can say that just as a (N)7TAn is 72v/An5WwW2 N the same
applies to a (7)1°n1. That she is 722 Inn]
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The explanation (why she persuades him by >XIw°2 7N n7nn) is because

through this marriage her son can be become 9177% through marrying a 7nsw. We
see that the son of a 711°n1 (who is a 7°n1) is marrying a Andw, similarly an 72¥ may marry a 71Nl
The n"2myn may (seemingly) marry a 72°n1 both from the m7°1 7% and the M72y 7X.

N1B0IN answers:
- 1900 19 YWY P9 NYYIN NN NNOYWA N3 P9ONT 2 Y GNT 9129 U

And one can say; that even though her son (the 7"nl) may not marry a mnow,
nevertheless she (the 7m5W) is not concerned about this 70X as long as eventually

there will be a 77971 for her grandson; the reason she is not concerned®* -
= HNIYIY X201 NNAT NYWIN NIXR NNV 1N 9OIN AVWN? XY NMav7

For the 71°n1 assumed that her son will not consider it an 99%9°X to marry a anow,
just as she is not concerned, for she married a »X"2> who is forbidden to her.

In summation; a 71°n3/°N1 and an AMOW/72Y are not permitted to intermarry.

mooIn anticipates a difficulty:
= DNP IV DNNYT 2N DY N 1101 29V NNOWA 1) YIONT XN

And the reason why a n1 is forbidden to a 712w more than a =m»» (who is
permitted to marry a 7now), even though both of them (a °n1 and a 7mn) are

forbidden to marry into the Jewish community; msoin will now explain why a 101 is
included in %7p 709 -
26 25
= TIPDNNH NOTIND 192 TN TPnT
For regarding marrying a 1°n1 there is the prohibition of ynnnn X%, so why is there
a difference between a 7°"n1 and a 7 —

mooIn responds:
- ”w*rp 979 XY 79U XY 9191937 DIVN DN 12929 99N

3 moown answer is that a 101 is not permitted to marry a 7now, and therefore an 72y is also not permitted to marry a
7101 (not as M1YIN assumed previously in footnote # 22).
* The 701 is 79°37% the Y8 to marry her for then there is hope that her grandson will be v, for her son (the 1°n3)
will marry a anow (see footnote # 13); but why does she think that her son will marry a 1now, since we have just
concluded that a P01 is AMOW2 TOK.
2 We know that a 2mn is 7P 710X for the 710 writes explicitly (in 3,33 [X¥n] 0°727) 71 272 1A K2 KO,
% The 77N writes in 3,7 (nRY) 027 regarding the mMmX 1, that 22 3Ann &91. The o°rn1 (formerly the o°11w23) are
from the n¥ '
27 See m,30 [R¥N] 0727 where the 7710 writes X 131 wTp 77 X9 This is understood to mean that a YX2” may
not marry an 1r9w/72y. The term w7p here means something sacrilegious or profane. The 771N is warning us not to
become w7p by marrying a nnow. However a 7tn is already w7p, therefore this prohibition does not apply to him.
However regarding a 1n1, by whose parents 1"217°p are 0910, he is enjoined from becoming a w7p by marrying a answ.
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The n''- says that the prohibition of wTp 7°7° X® (which prevents one from

marrying a anov), is not applicable to a 2% -
- Byt s0am NYT M0ONN SNND MYUTDN $9197

For a °mn comes entirely from a w7p prohibition, meaning he is born from
parents who transgressed a prohibition where 1°217°? do not take effect —

Mmoo anticipates a difficulty:
= UIP NN NYNI ) P37 NNNAY 9513 9IONT 2 HY 9N

And even though that a 7mn is forbidden from a male partner and from

bestiality, which are also derived from 27p 71971° 8%, we see therefore that the o°X of
WP 7 R applies to a 7, so why is he also not forbidden to a now?!

mooIn replies:
- 131 MNNT MYTP RIN 177U RY (2,1 97 pr1me) ION 77 7292

That in nino» '7 P95 we permit 2°711 to be exempt from the M0°R of WP 711> KD,
only if it is a w7 which is similar to where the 71721 came from —

In summation; a “tm» may marry a nnow but is 7727221 7212 MMOK; he is only exempt from 777 X7
w7p prohibitions which entail relationships that can bear children.

mooIn anticipates a difficulty:
- 2HNY NN 111991921 23 IY AN DNOWA 595N 39M33 SN IYWT RN

And the reason freed slaves are permitted to 2°1°n2 and prohibited with a mnsw,
even though that there is a "X by both of them —

mooin replies:
= 9P DI INYN 122959 239N)T BN 13929 9N
The n''1 explains that we derive the rules regarding 2°°n1 from other %77 59105 -
- 29mm s9mx 891 220592 HNDA 19U IR 981 SANIDY 2INY NI

*® The general rule is that a 9man is an offspring of a forbidden relationship where w177 *09n X.
¥ See w"wn who amends this to read, "7 7792 (instead of "7 p192Y)
%% This means that he was born from a relationship between a father and mother (there the w7p 110°X does not apply;
meaning he may be with a nndw), but he did not come from a 737 or a 72 (therefore that w7p Mo°R does apply).
' By a ninow there is the W2 of wTp 7 &Y (see footnote # 27), and by °2n1 the WY of 1NN XY (see footnote # 26),
so why is 7M1 °1°n1 (to a MWwn) and AMBY is AMOK (to a 1MMwn).
32 Regarding »axm "3my. the 7N writes in 7,32 (X¥N) 0127 that '77 222 *28M) *1my 82 X2, And regarding 17X *1%7
the 770 writes "o P09 oW that ' 2ap2 0n? X2 *w2w M. Their prohibition is limited to 77 2P, but not to 2>72w1 0™
who are not part of 17 917p. Therefore o>27mwn 0°72v (and 0°73) can marry them
¥ pamwn 072y are similar to 03, because they need to convert partially when becoming 2°72y and their M= is
completed when they are freed.
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For instance %2Ry s1my and S217RY %% who are permitted to marry 2%,

since 23 are not considered »;1? and neither are 0™ mwn» 0°72y considered P -
$97199359 19299 XY 119 P)PWiTp 533 INYT MTaY Yax

However regarding slaves (like a 7rmow) where w752 does not apply by them,

we cannot derive them from >y, etc. and say they are >3 %172 7N, but rather they are
MMOX to 2*IMWwn 0372Y (and 2°73).

In summation; 2°n1, (where PYIT°P is 09I1N) may marry 23 DMWH 272y just as 191 10
(where PWIT°p are ©911) may marry 23 27MWH 272y, however a oW (where YR X
70911) may not marry 2731 271w,

Summary
The only option for the 11"2myn is that the master should free him.

Thinking it over
ndoIN asks that the 72y °xr should sell himself as an ¥"Y and will be 7rdwW2 0N

1o for there is a 7" that even if 2°321 WX 12 "X nevertheless mdW 17 7012 127
n"1w10.%°> We see minoin addresses the issue of 2°121 WX X, however why did not
MooIn address the issue that there is (also) a dispute36 whether by 1%y 721 (as the
case 1s here) 1s 127 permitted to give him a n21y1d AndWwW?!

2. mpoIn asks that the n"amyn should marry a natn without Pw17°p, and that is no
problem just as there would be no problem if he could marry a n°1yid Anow even
though by her there is no Pw17°p.”” However how can we compare the two cases;
by a nmow there is no concept of 717’2, however by a N7 there is 10910 WP,
so how can we say that he should marry her without 7217°2?!

3. After mpon explained that the n"amyn cannot marry a n7mn because M2772 PR
SR 0. Moo immediately asks, that he should marry a 71°n1.°* Why do we
not give the same answer X" 0°1°n1 M2 PR

#* o "I¥n, ete. including *1n1, even though there is an 70X to marry them, nevertheless w1 7°p are 0910 if one
married them (for they are only 7w¥1 PIX? 21) or they marry amongst themselves; however by an 72y there is no
77090 IR at all.
35 See footnote # 10.
3 9 1 punTp.
37 See footnote # 16.
38 See footnote # 18.
¥ See o1 P,
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